

ORIGINAL

1/07//

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License #	API No. 15 - 055-22027-00-00
Name: Pioneer Exploration, LLC	County: Finney
Address: 15603 Kuykendahl Suite 200	SENWNESec19Twp22S. R33East 7 West
City/State/Zip: Houston, Texas 77090	990 feet from S (N)circle one) Line of Section
Purchaser: NCRA	1650 feet from (E) W (circle one) Line of Section
Operator Contact Person: Cynthic ON FIDENTIAL	Footages Calculated from Nearest Outside Section Corner:
Phone: (281) 893-9400 x.259 JAN 67 7009	(circle one) (NE) SE NW SW
Contractor: Name: Vision Oil and Gas Service LLC	Lease Name: Garden City "B" Well #: 20-19
License: 34190	Field Name: Damme
Wellsite Geologist: Patrick Deenihan	Producing Formation: Morrow/St. Louis
Designate Type of Completion:	Elevation: Ground: 2904 Kelly Bushing: 2917
New Well Re-Entry Workover	Total Depth: 4956 Plug Back Total Depth: 4912
Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 351 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set 2694 Feet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from 4935
Operator:	feet depth to surface w/ 1025 sx cmt.
Well Name:	- MUTINE 22-C
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan AH IL M 3359 (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content ppm Fluid volume bbls
Plug BackPlug Back Total Depth	Dewatering method used
Commingled Docket No	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
11/04/08 11/13/08 11/15/08	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or	Quarter Sec Twp S. R East West
Recompletion Date Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workon Information of side two of this form will be held confidential for a period of 107 for confidentiality in excess of 12 months). One copy of all wireline log TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged well	
All requirements of the statutes, rules and regulations promulgated to regulater are complete and correct to the best of my knowledge.	late the oil and gas industry have been fully complied with and the statements
Signature: Clynchia B. Shog	KCC Office Use ONLY
Title: Field Operations Date: 12/24/2008	Letter of Confidentiality Received
Subscribed and sworn to before me this 24th day of December	If Denied, Yes Date:
	Wireline Log Received
20_08	Geologist Report Received
Notary Public: Clark Ordas	Clark Ordas
	ary Public, State of Texas \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \
	ly Commission Expires: The Carrier of the Carrier o
£	MEDERN SU

Operator Name: Pio	neer Exploration, LLC		Lease Name	Garden City "I	3"	_ Well #: 20-	18 7 1
sec. 19 Twp. 2	Twp. 22 S. R. 33 East			еу	to particular and the same and	ريان	of the better you as
sted, time tool ope mperature, fluid re	n and closed, flowing covery, and flow rates	nd base of formations p and shut-in pressures, if gas to surface test, a nal geological well site i	whether shut-in p llong with final ch	ressure reache	d static level, hydro	ostatic pressu	res, bottom hole
rill Stem Tests Take		Yes No		Log Forma	ition (Top), Depth a	and Datum	[] Sample
amples Sent to Ge	ological Survey	Yes No	Na	me		Тор	Datum
ores Taken lectric Log Run (Submit Copy)	\	☐ Yes ☑ No ✓ ☑ Yes ☐ No	V SE	E ATTACHED			
ist All E. Logs Run:							į
		CASING Report all strings set-c		New Used	oction, etc.		
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs. / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
Surface	12-1/4"	8-5/8"	24	351	Common	225	3% cc w/ 2% gel
Production	7-7/8"	4-1/2"	9.5	4935	C/C-lite/ASC	1025	10% salt, 2% gel, 5# gilsonite; 1/4# flo-seal
		ADDITIONAL	CEMENTING / SO	DUEEZE BECOE			
Purpose:Perforate	Depth Top Bottom	Type of Cement	#Sacks Used	JOEEZE NECOF		Percent Additive	s
Protect Casing Plug Back TD Plug Off Zone							
Shots Per Foot	PERFORATIO Specify F	N RECORD - Bridge Plug ootage of Each Interval Per	s Set/Type forated		acture, Shot, Cement		rd Depth
ļ	4710-4714, 4724-47	28, 4752-4755, 4820-4	824, 4836-40	1250 gals 15	5% NeFe		4820-4840
		H-11		1000 gals 15	5% NeFe		4710-4755
en andere and an entered an entered and an entered an entered and an entered an entered and an entered and an entered an entered and an enter				Frac'd w/ 78	0 bbls and 30,000	# sand	4710-4755
TUBING RECORD	Size	Set At	Packer At	Liner Run			
		4791	T donot At	Liner Hun	Yes No		
Date of First, Resumer Waiting on Conn	d Production, SWD or Er e ction	hr. Producing Met	nod Flow	ng 📝 Pump	oing Gas Lif	ft Oth	er (Explain)
Estimated Production Per 24 Hours	Oil E n/a	Bbls. Gas	Mcf Wa	iter	Bbls. G	Gas-Oil Ratio	Gravity
Disposition of Gas	METHOD OF CO	OMPLETION		Production Inte	erval		
Vented Sold	✓ Used on Lease shmit ACO-18.)	eloH neqO		Dually Comp.	Commingled		



January 7, 2009

Kansas Corporation Commission Finney State Office Building 130 S. Market, Room 2078 Wichita, Kansas 67202-3802

1/14/09

Tel: (316) 337-6200 Fax: (316) 337-6211

Ref: Garden City "B" # 18-19, API No. 055-220240, Garden City "B" # 3-19, API No. 055-21976-00-00, Garden City "B" #20-19, API No. 055-055-22027-00-00, Garden City "B" #17-19, API No. 055-22022-00-00, Garden City "B" #19-19, API No. 055-22026-00-00, Garden City "B" #3-19, API No. Completion Reports (Form ACO-1)

Attached please find completion reports for the above wells submitted by Pioneer Exploration, LLC for your review, approval and further handling.

Included in this submission are all of the following forms for each of the wells listed above:

- 1. Form ACO -1 original and 2 copies
- 2. Cementing Reports Surface and Production
- 3. One Copy of all wireline logs and geologist reports

*Please hold any information on the above referenced well in "Confidential Custody for the maximum time as prescribed in K.A.R. 82-3 107 (e) (1). An additional one year extension will also be requested as is authorized by K.A.R. 82-3 107 (e) (4).

If additional information is needed, please contact me.

Sincerely,

Cynthia B. Gray Field Operations

JAN U 9 2009
RECEIVED

Office # (281) 893-9400 ext. 259 Fax # (281) 893-7629

Garden City "B" #-20-19 Damme Finney County API. NO. 15-055-22027-00-00

Tops and base of formation penetrated

<u>Name</u>	<u>Top</u>	<u>Datum</u>
Herrington	2519	(+398)
Krider	2539	(+379)
Winfield	2597	(+320)
Heeber Shale	3816	(-899)
Lansing	3866	(-949)
Base/Kansas City	4349	(-1432)
Cherokee Shale	4484	(-1567)
Morrow Shale	4689	(-1772)
St Louis	4754	(-1837)



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax: (

(785) 483-5566

Bill To:

Pioneer Exploration, LLC ATTN: Accounts Payable 15603 Kuykendal, Suite 200 Houston, TX 77090-3655



Invoice Number: 116861

Invoice Date: Nov 4, 2008

Page:

1

CustomerID	Well Name# or Customer P.O.	Paymen	t Terms
PioExp	Garden City B #20-19	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1	Oakley	Nov 4, 2008	12/4/08

Quantity	item	Description	Unit Price	Amount
225.00 M	IAT	Class A Common	15.45	3,476.25
4.00 M	1AT	Gel	20.80	83.20
8.00 M	1AT	Chloride	58.20	465.60
237.00 S	ER	Handling	2.40	568.80
73.00 S	ER	Mileage 237 sx @.10 per sk per mi	23.70	1,730.10
1.00 S	ER	Surface	1,018.00	1,018.00
73.00 S	ER	Mileage Pump Truck	7.00	511.00
1.00 S	ER	Head Rental	113.00	113.00
1.00 E	QP	Surface Plug	68.00	68.00
		MELL NAME AFE # DATE APPROVED		

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 803 39

ONLY IF PAID ON OR BEFORE

Dec 4, 2008

 Subtotal
 8,033.95

 Sales Tax
 253.77

 Total Invoice Amount
 8,287.72

 Payment/Credit Applied
 8,287.72

KANSAS CORPORATION COMMISSION

JAN 0 9 2009



ALLIED CEMENTING CQ, LLC. 043800

SERVICE POINT: REMIT'TO P.O. BOX 31 **RUSSELL, KANSAS 67665** CAKIEY RANGE マチル JOB START ON LOCATION TWP. ユヱゔ CALLED OUT SEC. DATE GARNEN CITY LOCATION TENAIS RO+83 HWY 25-5/4 W STE OLD OR NEW (Circle one) IN WARREN DRIG. RIG #18 **OWNER** CONTRACTOR 54RFACE TYPE OF JOB 1214 **CEMENT HOLE SIZE** AMOUNT ORDERED **CASING SIZE** DEPTH 225 SKS COM 3600 2% 681 **TUBING SIZE DEPTH DRILL PIPE DEPTH** TOOL DEPTH COMMON_225 5K5 **MINIMUM** PRES. MAX @ **POZMIX** MEAS. LINE SHOE JOINT @ <u>~</u> 20 8 **CEMENT LEFT IN CSG** GEL @ 58 = CHLORIDE_ PERFS. **@** 20.40 188/5 DISPLACEMENT @ **EQUIPMENT** (a) @ TEKRY CEMENTER **PUMP TRUCK** @ # 422 ALUEN **HELPER** @ BULK TRUCK @ **377** DRIVER **BULK TRUCK** HANDLING 237 5Ks DRIVER ير @ MILEAGE LOE DER SKI MEIS TOTAL _ **SERVICE DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE** @ MILEAGE_ @ MANIFOLD THANK YOU HEROI RENTAL @ CHARGE TO: PRONEER ZXNIORMITTON TOTAL _ STREET ____ STATE_ PLUG & FLOAT EQUIPMENT SUKFACE PluC @ @ To Allied Cementing Co., LLC. @ You are hereby requested to rent cementing equipment @ and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was TOTAL <u>68</u> done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL SALES TAX (If Any) -TERMS AND CONDITIONS" listed on the reverse side. TOTAL CHARGES.

DISCOUNT.

PRINTED NAME_

SIGNATURE (Jorge Trace)

.vivsas corporation commission

IF PAID IN 30 DAYS

JAN 0 9 2009 RECEIVED



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Fax:

(785) 483-3887

(785) 483-5566

INVOICE

Invoice Number: 117089

Invoice Date: Nov 14, 2008 1

Page:

Bill To:

Pioneer Exploration, LLC ATTN: Accounts Payable 15603 Kuykendal, Suite 200 Houston, TX 77090-3655

Customer ID	Well Name# or Customer P.O.	Payment	Terms	
PioExp	Garden City B #20-19 Net 30 Days			
Job Location	Camp Location	Service Date	Due Date	
KS1	Oakley	Nov 14, 2008	12/14/08	

Quantity	Item	Description	Unit Price	Amount
4.00	MAT	Gel	20.80	83.2
200.00	MAT	ASC Class A	18.60	3,720.0
200.00	MAT	Lightweight Class A	14.05	2,810.0
19.00	MAT	Salt	23.95	455.0
1,000.00	MAT	Gilsonite	0.89	890.0
50.00	MAT	Flo Seal	2.50	125.0
460.00	SER	Handling	2.40	1,104.0
73.00	SER	Mileage 460 sx @.10 per sk per mi	46.00	3,358.0
1.00	SER	Production String - Bottom Stage	2,185.00	2,185.0
73.00	SER	Mileage Pump truck	7.00	511.0
1.00	SER	Manifold Head Rental	113.00	113.0
1.00	EQP	AFU Float Shoe	434.00	434.0
1.00	EQP	Latch Down Plug Assembly	405.00	405.0
1.00	EQP	D V Tool	4,219.00	4,219.
3.00	EQP	Baskets	168.00	504.0
10.00	EQP	Baskets DESCRIPTION Centralizers	51.00	510.0
		ACCOUNT # 170005 WELL NAME K5015920 AFE # 081010053		
	DE MET DAYA	LIAI E CONTRACTORISMONICO		21,426.2
	RE NET, PAYAI LOWING DATE			877.6
	1/2% CHARGE	Calco Tax		0.770

THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 214262

ONLY IF PAID ON OR BEFORE

Dec 14, 2008

22,303.88 **Total Invoice Amount** Payment/Credit Applied 22,303.88 TOTAL

KANSAS CORPORATION COMMISSION

JAN 0 9 2009 RECEIVED



ALLIED CEMENTING CO., LLC. 043867

REMIT TO			NIC A C 6766	5		. #09-		SERV	ICE POINT:	1
	KUSSE!	LL, KA	NSAS 6766	3					OQA	
DATE / / -/	44-08	SEC.	TWP.	RANGE 33W	CA	LLED OUT	ON LOG	CATION	JOB START	JOB FINISH
DATE / -/ LEASE		17	20-19		200	in city	20156)	COUNTY	STATE
OLD OR N	-		30-17	S & in	10				<u>/ · </u>	
	1		n Dri			·	Sam	e		
CONTRAC				1 Control		OWNER	Sam			
TYPE OF J HOLE SIZE		10	T.D.	4950		CEMENT				.
CASING S		12	DEP	44.0	50		ORDERED	200 5	85 AG	290geL
TUBING S			DEP			10/050	1450	7//50	ァゲモ	
DRILL PIP			DEP	TH	,	200 5	55 47	e ky	to Flow	900
1002	OV			th 2694		~~				
PRES. MA				IIMUM	7	COMMON POZMIX		·/	. @ . @	
MEAS. LIN		CSG	21,5	DE JOINT 2/~3		GEL	435	5	@ 20,80	83,20
PERFS.	LEFTIN	CSG.	0115			CHLORIDI	E .		@	
DISPLACE	EMENT	80.0	Co BBL	36,15	Ligh	ASC 2	00 55	\$	@ 18,60	3720,00
			ULPMENT	43,91,	mud				· @	2810,00
		24.				Lite	2005	-3		20,0,00
PUMPTRU	ICK . C	EMENT	TER An	drew		Sa/+	1955	-5	<u> </u>	455.05
# 423-	~ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	ELPER		ren e		34//	7730		@ ***	45020
BULK TRU						Gilson	ito 1	200 A	@ - 89	890,00
#323	D	RIVER	wal	+ m		<u>G-775011</u>	,, -	41	@	
BULK TRU						Flo-s	æl 5	0	@ 2150	125,00
#	D	RIVER				HANDLIN	G 460	SAS	@ 2.4D	1104,00
						MILEAGE	104 5	mile		3358,00
		RE	MARKS:	6					TOTAL	12545,25
mix a	ANO SA	515	te Foll	lowed by				•	1	
2005/0	s Asc	- ii	rasho	umpand	·			SERVI	CE	
Lines	cla	24	مكاظرينا	ice dug	<u> </u>			./022	50	
1000	LIFF	pres	sure		<u> </u>	DEPTH O	F JOB	4 435.	,30	2/86.00
97 16	001	hek	drg	o gooning			UCK CHAR	GE		2185,00
devien	e of	JEM.	DVTO	01 1200		EXTRA FO		4	-@ <u>7,00</u>	011,00
				1 -			Dhead			113.00
			7	harn Jo	7 -	MANIFOL	D <u>n 500</u>	1 CTUGE	- @	
			•	•					_ @	
CHARCE	TO P	on ex	er ex	ploration	4		-			
CHARGE	10: 2	<i>317</i> -		20.47.0					TOTAL	2809,00
STREET_									.0	
CITY		S	TATE	ZIP						
O111						.1/2	PLUG	& FLOAT	r equipmen	T
						412				
						1 AFL	Float	5400		434,00
					4	r Lato	h down j	acy	<u> </u>	465700
To Allied	Cementi	ing Co.,	, LLC.			2 000	700C		-@ <i>1/20</i>	504,00
You are h	ereby red	quested	to rent cer	nenting equipme	ent	3 DQ3/	tra 612	45	- @ <u>727,28</u>	5/0-00
				o assist owner o		70 cer	<i>,</i> , , , , , , , , , , , , , , , , , ,			<u> </u>
				he above work v					TOTAL	6072,0
			-	of owner agent		. 🕳			IOIAL	
				nd the "GENER		SALES TA	X (If Anv).			
I EKMS A	AND CO	MDITI	ON2 liste	d on the reverse	side.		-			
						TOTALC	HARGES	····		
PRINTED	NAME_			>		DISCOUN	TV		IF PAI	D IN 30 DAYS
	,	1	/ /				1303 1			
SIGNATU	RE	ME	-	ھ			30200			
	7	ye					S 77 10 0		SAC CURIDON	
	-						11	, \- \- \/	ISAS CORPORATION CO	
									JAN 0 9 20	00
									J ZU	US

RECEIVED



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: Fax:

(785) 483-3887 (785) 483-5566

BIII To:

Pioneer Exploration, LLC ATTN: Accounts Payable 15603 Kuykendal, Suite 200 Houston, TX 77090-3655





Invoice Number: 117090

Invoice Date: Nov 14, 2008

Page:

1

Customer ID	Well Name# or Customer P.O.	Payment	Terms
PioExp	Sarden City B #20-19	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1	Oakley	Nov 14, 2008	12/14/08

Quantity	Item	Description	Unit Price	Amount
150.00	MAT	Class C Premium Plus	19.25	2,887.50
500.00	MAT	Lightweight Class A	14.05	7,025.00
2,500.00	MAT	Gilsonite	0.89	2,225.00
•	MAT	Flo Seal	2.50	312.50
	SER	Handling	2.40	2,196.00
73.00	I.	Mileage 915 sx @.10 per sk per mi	91.50	6,679.50
	SER	Production String - Top Stage	1,185.00	1,185.00
		DESCRIPTION ACCOUNT # 1/00015 WELL NAME 4505920 A AFE # 0810 Do54 DATE APPROVED		
444 504050 4	DE NET DAVADI	E Subtotal		22,510.50

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 225105

ONLY IF PAID ON OR BEFORE

Dec 14, 2008

Subtotal 771.90 Sales Tax 23,282.40 **Total Invoice Amount** Payment/Credit Applied 23,282.40 TOTAL

COMPONING

KANSAC CORPORATION COMMISSION

JAN U 9 2009 RECEIVED

ALLIED CEMENTING CO., LLC. 043868 Federal Tax I.

	P.O. BOX 31 RUSSELL, KANSAS 67665	
•		

SERVICE POINT:
Dakley

RECEIVED

	1	T=====	T =	Ta	Ta a a .=	1.05.55	1.00 500 000	
DATE 11-14-08	SEC.	TWP.	RANGE	CALLED OUT	ON LOCATION	JOB START	JOB FINISH	
urden city B			Gar	en city		COUNTY	STATE.	
LEASE WELL # 20-19 LOCATION OLD OR NEW (Circle one) SE into				/ //	9 N 5W		1 ~~	
ED:OK NEW (CII	Cie Olic)		3 E 1400					
ONTRACTOR //	Sion.	Drillin	9 Rig 18	OWNER	same			
YPE OF JOB	ducti	on	(Top sage					
IOLE SIZE 7/	8	T.D.	4950	_ CEMENT			# 1	
CASING SIZE 42	2	DEP		_ AMOUNT OR # HOSCL	DERED LSD	clastic"	3 6 1Bone	
TUBING SIZE DRILL PIPE		DEP DEP		15 145 S00			55 C	
TOOL V		DEP	- / /	- class c	Co Lije	<u>/000</u>	<u> </u>	
PRES. MAX			IIMUM	COMMOR _	50545	@ 1 9.3 5	2687,5	
MEAS. LINE			E JOINT 2/27	POZMIX	·	@		
CEMENT LEFT IN	CSG.	71,59		_ GEL		@		
PERFS.	11.2	91 BB	/	_ CHLORIDE _ ASC _		@	_	
DISPLACEMENT	•			Lite.	500	- @ <u>14:0</u>	57025,0	
	EQU	IPMENT				<u>u</u> @		
			<u> </u>	- Gilsonit	e 2500°	@ 89	2225,00	
1 P	CEMENT HELPER		drew rene	_		@		
BULK TRUCK	TELPER	<u> </u>	1	- Flo-seal	125	@ 2050	3/2/50	
- 10	ORIVER	50	hn			@		
BULK TRUCK						@		
#386 I	DRIVER	<u>J.</u>	erry	- HANDLING	915 SKS.	- @ 7.40	2196,00	
			/	MILEAGE	10 + Sh/mi	Ze	6679,5	
	RE	MARKS:			,	TOTA	2/225	
Plug mouse	hole	105ks	Rathole 155	1/25				
mix 475	CKS L	-17e A	nuin center	· .	SERV	ICE		
Followed b	150) 278 <u>0</u>	Lassic" was	~				
pumpano Olua 80	Lines		r. Displac		OB	2694		
plug 800	1-01 C	+ 1600	//	_ PUMP TRUC	K CHARGE		1185,00	
held com	unt c	id cu	roulate-	EXTRA FOOT MILEAGE	IAGE ファ ニックマン	@ 	N/c.	
100 0-			-/ (-		S MIC W			
			Thank 4					
			,					
CHARGE TO: $ extbf{ extit{Z}}$	bhe	er ex	ploration	· #2				
						TOTA	1185,00	
SIREEI								
CITY	ST	ATE	ZIP	_	PLUG & FLOAT EQUIPMENT			
					TECG WIEG	ii byeli mb		
						@		
To Allied Comon	ina Ca	LLC						
To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment						@		
and furnish cemen						@	_	
			ne above work was	• •				
done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.				•	TOTAL			
				,				
				SALES TAX	(If Any)			
				TOTAL CHA	RGES			
DDINTED NAME				DICCOLLET		₹E DA	ID IN 20 DAY	
PRINTED NAME					827 12 36 25 13 13		אט אני אוז מזי	
	(0.00	Lind	-2	*** ****				
signature 🌽	198	emo			BANK 3 / EKANSA	IS CORPORATION COM	MISSION	
(•				-			
					Million .	JAN 0 9 200	9	